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@ug - { / SECTION - A

IS VI / Objective Type Questions

oy WET 1 ® 70 % & HAd® 0vA & 0 9w fawew fiv v & fr @

wwﬁ?lwﬁmg#wwa?%ww OMR ¥fiz uv Rafex #¥ | amgat
35gvAT F Iav e & |

35 x1=35
Question Nos.

1 to 70 have four options, out of which only one is

correct. You have to mark your selected options on the OMR sheet. Only
35 questions are to be answered. - 35%x1=35

1. Tafefead @ N st ant 1 wmor R 7

(A) Siet QO . \(B’/ EIRS AN
(C) = wgEw (D)  ¥-¥guor
Which of the following is the cause of acid rain ?

(A) Water pollution (B)  Air pollution

(cj Noise pollutlon (D) Land pollution‘
2. el P w5 fafie a2 |
| (A) 3l sqaeen # faftm qwed @ ﬁmra
B) uftaeA Sreras o &g frrand
(€) &= fard % fysra w1 SUTH

(D)  TTHYoT &1 W fereeE

——
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[3]

, Specific feature of regional planning is
(A) Development of various sectors of economy

(B)  Areal differences in transportation network

(C)  Area specific approach of development

(D) Development of rural areas

Fr=fafRea ot & =9 IS TE &

(&) v e B)  Yvdsrer viver
©) AfrEwr | " (D) vETEEE sie

Which of the following diseases is not airborne P

(A) = Respiratory infection (B) Conjunétivitis

(C) Diarrhoea ' (D)  Bronchitis
T I9H R T S e m R 2 ¢ |
(A)  Tm

. B) wWEES
© = | o e

Paradwip port is situated on which river delta ?
(A) Ganga (B) Mahanadi

(C) Kaveri (D)  Krishna

qoe 4 [{ 32
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5. QeI 9uv sraferd 2
(A) A (B)  Ateah o
) dfemgd o) ay v
Tuticorin port is located in :
(A)  Kerala | (B) Karnataka
©) Tamil Nadu (D)  Andhra Pradesh

6. Yd-"e {Wed 1 TR 3»37 27
(&) EwE O
© dwwo e
Where is the headquarters of East-Central Railway Zone ?
(A)  Hajipur | , (B) Jabalpur

(C) Gorakhpur =~ (D) Allahabad

7. Imodtodiodlo 7
;(A) Ui gded faemma T
(B) wufaa eI ferepra Sy
(C) gufaa amn fasmm smm
(D) wwfa wftered feebra s

\- '
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LTD.P, is

(A)  Integrated Tourism Development Programme

(B) Integrated Tribal Development Programme
(C) Integrated Travel Development Programme
(D)

Integrated Transport Development Programme

8. ﬁm%ﬁgaﬁ%ﬁ-—r&awé ?

&) == (B) =R

J¢é¢gﬁ"%§7;é(a)érﬁ O Ay

Which of the following is a beverage crop ?

(&) Tea

(B)  Coffee
©  Both () and (B) '. B] ‘NonealThase
9. fowm =i s i T o 2

(&) 'ﬂ“naii, B) R Y

© w3 (D) w3
Extensive commercial grain farming is not practised in
(A) Pampas (B)  Steppes
(C) Prairies | (D)  Amazon basin

—_— — Page ©/ .
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ﬁc{%ﬁt«aﬁﬁ%aﬁqmmaﬁﬁum@a%?.
(A)  uREE (B) HER
) ¥ ~ () M Pl

Which of the following is associated with quinary activities ? |

(A)  Transport (B) Communication

]

(C) Services - A (D)  Policy formation

1. mmwm%

@) el B R .(B). ﬁaﬁwmﬁ

() e e E (D) g 3

Red collar is associated with

(A)  Primary activity ~ (B) Secondary activity
(C) Tertiary activity (D) Quatérhaxy activity

12. ﬁmﬁmﬁﬁ@ﬁmwﬁam%?
a T |
Q T8 ' : (D) el

Which of the following is associated with professional services ?

(A) Ad\'/ocate (B) Washerman

(©) Barber (D) Al of them

U
0

V)]
a
2
.
t
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Frefafiea @ @ % 9gd I9 Srarremdl @ arfa @ 7

(C) = AR g Fmtoy D) freaf Forsrer

Which of the following is related to quaternary activities ? -
(A) ' Manufacturing computer

B) Prin-_ting books
) . Paper and pulp production | =
(D)  University teacher 7
14. ﬁmmﬁﬁwﬁwmmmm% )
&)  wufes framsem | e
®)  fafram S
(© =3 frareem
(D) u=m Beamema
In which of t‘he ‘x;oliowing activities are high levels of innovations
: inclﬁded ?
(A) Primary activities
(B) Secondary activities

(C) Quaternary activities

(D) Quinary activities

| ——_/// Page 8
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L7,

[323]
e TR 1 vy R

(A) T q (B) =mmd

© fena (D) i & i 7

Garrison town is associated with

(A)  Cantonment | (B) Trade

(C)  Education (D)  None of these

ﬁw%i@awfﬁm%mﬁﬁﬁmaﬁaﬁémﬁﬁa%?

A)  wafe B i
€ s | D) ¥ & T

Which of the following economic activities is associated with rural

settlements ?

(A)  Primary (B) Secondary

(C) Tertiary (D)  None of these

A § 9 YaTE s I0E uT @

(a)  oweftor & Treor (B) TR ¥ Ty
- v Treftor & A (D) T F wfy

The main stream of male migration in India is
(A)  Rural to rural (B)  Urban to urban

(C)  Rural to urban (D)  Urban to rural

‘\_ | age 9 / 32
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?
zonﬁwwm%mmmﬁmmmwu?mré
(&) aivEm s (B) e
(&) faEr (D) I uew
According to 2011 Census, which state has the highest density ¢
popula‘aon ?
(A) West Bengal (B) Kerala
(C) ‘ Blhar _ ' (D)  Uttar Pradesh
19. Wﬁ%mmﬁwmﬁ STAER a1 8
(A g By wary
© frer D) ¥
Which of the following ' states recewves maximum NUmber o
1mm1grants ?

(A) Chhattisgarh | (B) Maharashtra

(€) Bihar (D)  Kerala

ﬁqﬁﬁgaﬁﬁaﬁ:wmwﬁmwmém?ﬁ% ?
(A) @—Wﬁﬁzﬂiw

(B)  3IES ety

MG TEA-TE T e

(D)  wifa we wnf

20.

— 1)
page 10/°
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[323]
Which of the following is not a pull factor of human migration ?

(A)  Better living éonditions

(B)  Favourable climate
(C)  Poor living conditions

(D)  Peace and stability
21 et -l it o et wnean o 3w 2 7

&) wEig (B) 3ieAM 3R FepEr

€ e skda (D) W
| Which of the follovving unidn territories has the highést literacy
rate ? |

(A) Chandigarh (B) Andaman and Nicobar

(C) Daman and Diu - (D) Lakshadweep

22. 2011 ) ST % FTER TR F BFE T § TI0T SHEEH B SR
e o 7 | B
(&) dfreeTg @
©F W o

Whicﬁ state had the highest percentage of urban population in

India according to 2011 Census ?
(A) Tamil Nadu (B)  Kerala

(C) Maharashtra (D) Goa

\
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23, TRidsNEH TR R ?
@A)z (B) TS
© u (D) e
Which of the following is ot a mining town ?
& dharia B)  Ranigan

(C) Khetri (D) Patna

24, UFIH TH IR R

&) me '  (B) UEHHTEN WIER w5y
© WawTRE (D) wHARE
Rohtak is an Samisf
(A)  Ancient town B)  Medicval town
(C)  Satellite town (D) None of these

25. e vl # e e # orafed T R 7
(A) 113?1 B) i
(€) TeE (D) e
Which of the following towns is not situated in Gujarat ?
(A) Surat (B) Nasik

(C) Rajkot (D) Kandla

[254/12/108 |
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. MR K FAHET & JgER Fefafed § @ B aw f aforn w0 s @

g7
(A) SEE BT 400 = wfa ot et
(B) :rrrm%m,ﬁmalﬁm-@m

(C) SHEE AR 5000 =Afwal d ARew

(DY 75% & 3ifrh e sefie & § Her g

‘Which of the following is not a part of the definition of a city as per
the census of India ?

(A) Population ydensity.of 400 persons per sq.km
(B) Presence of mﬁnicipélity, corporation etg.

(C) Population size of more than 5000 persons
(D)

More than 75% of population engaged in primary sector
27. T # 8 =W yfa-frefiet 3 swert @ 7

(A) &R (B)  HT 39EH

AR | wft

(C) S SHE

Which of the following is responsible for land degradation ?

(A)  Soil alkalinity (B)

Soil erosion

(C) Waterlogging

\

(D) All of these

Page 13 / 32
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28. TR I § amroft Uy

(A)  nfem

(B) e
/Xigf/ qmqg (D) e
The _1ead'1ng state in Jowar production is ‘
(A)  Odisha B) Goa
(€)  Maharashtra (D) Meghalayag
29. mﬁ%wwmm% ?
® P B) e 3eim
©) =t s D) Ne-serra i
Which of the foﬂowing is a forést-bageq industry »
(A) Paper industry (B) Cément industry
(C) Leather industry (D)

Iron and steel industry
30. TR 1 WO Yorim W S 3

[3%

(a) Ed ®)
o s O) 30 it
,World's most dense rail network is found in
(A) Asia (B)  Europe
(D) North Americg
(C) Africa _ :
25A/12/108
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1. ITETEH IR 2

(A) O I B (B)  Harl) i a1

(C)  Uhe TR I (D) 8T YT

Abadan is an example of

(A) Oilport (B)

Passenger port
(&) * Packet port (D)  Naval port
32, SRTIHTER! 3ETEI B

(A) O T | ' (Bj' Ao U I

© wEawE® (D) wE
Nagasaki is an example of
(A)  Oil port " (B)  Fishing port

(C) Entrepot port ' (D) . None of these

%msﬁtﬁﬁ%
v‘(/ij f&e TEMEIR ) T HEETR @
(B) I WETEWR 1 ectifed: HErdri §
(C) e AR W YHEErT A

. (D) o & i T

Page 15 / 32
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Suez canal connects

(A)  Indian ocean with Pacific ocean
(B)  Pacific ocean with Atlantic ocean

(C)  Red sea with Mediterranean sea

(D)  None of these

(A) North Atlantic sea route

(B) Suez route

(C) Panama route

(D) Cape route

25A/12/108;‘ Pagelé/n




I
Srffad A B At anfye wwd e 2 7

(A) Rl B)

(C) BT (D) Hi%H

Which of the following is not an inland seaport ?
(A) Kolkata | (B) Athens
(C) Manchester (D) = Memphis

6. TreeaTe Teheul # FRE e w1 HEeIl AT T § 7

(A)  STpideh TTH (B) WM €H
Aoy (A @) 3 (D) & & wE T

[323]

Which component is considered important in the‘ concept of

determinism ?

(A) Natural component (B) Human component

(C) Both (A) and (B) (D) None of these

37. WM e 1 GEUTTeE SRR el San @ 7

_ T B) f&

(C) =A™ (D)  ®Eee

Who is called the founder of Human Geography ?
(A) Ratzel (B)  Ritter

(C) Blache (D)  Humboldt

\
25A/12/108
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38, W
EURREE
) uwa%gma%aﬁmaéaixavﬁiﬁx% -
' i 3
(€ - | ? X ]
) Ty i
BUIGH
Geography of T 3 :ﬂﬁ\ﬁm
our
Geography ; SM s relateq to
Whi
A)  So =
cial Geg o
» Human
39 (€)' Urban Geq ’ B Poiit
_— ltical G
% SETR I T g D)  Eeq e
(A)  ofyaeh . ot
( T TR - s
) Ty
- & ety sy,
(D) |
T ey

C D =
) o )‘ Equa\torlal
(D) “gon
Ea?a SHHET W‘ i%?ﬁ Sli?’lﬁlil Qiﬁm b ﬁEPOlar Tegion
(A) 30 e e
(C) 50 yfewra ;;//20
- 60 g

?

(A) 30 per cent
(B) 20 pe
I Cent

(© 50 percent
(D) 60
Per cent

25A/12/108
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[323 ]
SteAtgd § ¥ 1 I T 1 Siqehy e T8 B 7

) T (B) i gfgumd
Q) = (D) wemEl
Which of the following is not a push factor of human migration ?
(A) Water shortage | (B) Educational facilities
() Unemployment (D) Epidemics

SITRRE Twau fagra s T e # =1 iR Yo <Fl € 3= B
ki
(&) S @) R
©) qd= (D) T & wiE T8
Both birth and death rates are high in which stage of demographic
transition theory ? |
(A) First (B) Second
(C) Third (D) None of these
43, fyva =AW TA (WTO) 1 geed foua 2
(a) s ) femA
ey S d (D) % fegh |
The headquarters of World Trade Organisation is located in
(A) New York (B)  Vienna

(Cy Geneva (D) New Delhi

2SA/127108 Pagsia / a2




[3
a4, ﬁmwwmmﬁ SRSy 7
(A) 3= - B <&
©  snRwm ——=DF i &
The headquarterg of which association ig located ip Kathmandu
(&)  opgc B)  saArc
©  AsEay D) All of these
4s. ﬁ%“’ﬂ% ? |
AL A B) it gy ¥
NS ifera Frafa 3 R N Y
OPEC ig associateq With
A C tt
(A) Otton €Xport (B) Pper €Xport
C Petro]
(C) €lroleum €Xport | (D) ©Xport
46. ﬁ%ﬂaﬁwﬁaﬁﬁa%ﬁmﬂ ?
(A) SR (B) Iy
©)  Famr D) iy
The village settleq along a riyer Will copy,
e Lmder Wh ch Pattern 5
(A)  Rectangular B)  Ragiq
© Circular (D) Linea,
32
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y




il |

. PR seEt § B gyl rewan anla awdt 2 7

SR B) i

(&)
N
(&N

© wmawWa D) fory i

Which of the following regions is the oldest well documented urban

settlement ?

(A) Nile Valley (B) Mesopotamia
(©) Hwang Ho Valley (D) Indus Valley
8. frferRaa o ®F SRR A ToEh 8 7
W wE e
(©) 3T A= = (D) Audi

Which of the following is the capital of Ethiopia ?

(A) Canberra (B) Lusaka
(C) Addis Ababa (D) Nairobi
49, Prefefiaa i & BN WrEpk TR 7
(A)  HAET | (B) W
¢y e (D)  3NETH

Which of the following is a cultural town ?
(A) Canberra (B) Mecca

(C) London (D) Osaka

\
1384y 12/108 : Page 21 / 32
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S0.

S1.

S2.

(323
A T i ) e R e 2
A o et i 1B) i f
© g D) 8 & +d
Who developed the Human Development Index ?
(A)  Prof. Amartya Sep (B) Manmohan Singh
(©  Raghuram, Rajan D)  None of them
Feffen a5 Mﬁm fom ST o % i ®?
A) ey B i
© wm @)
Which of the following ¢oyp
world 7

(A) Latvig (B) France
<C g apan

(D) Qatar
(A) R g Ifg

dicatg, of deVelopment ?
(A)  Anincrease in Bie
(B)  Simple change in SR

(C)  Positive change in quality

(D) A constancy in size

25A/12/108 \/
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() i frarray ®
©€) e e JD)

'Pastoralism' is related to which economic activity ?
(A) Primar& actiyity | (B) Secondary activity
(C)  Tertiary activity (D)
b e e et
& e

© (D) =

Quaternary activity

Which of the following is a plantation crop ?
(A) Wheat (B) Maize
(C) Rye (D) Tea
55. wewi HN A ahet W B
A) wuH (B) W
Loy Hrecdie # D) T d
Co-operative farming has been more successful in
(A) Russia (B) India

(©) Netherlands (D) Denmark

[323]
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(323
56 ﬁqﬁ%%uaﬁaawﬁwmww@aWﬂﬁmé?
| (&) TS B) TSt .
© fbm - D) YRS

In  which of the follow;j
individually ?

(A)  Socialistic (B)
(©  Mixeq (D)
S7. e i 3
A) =3 (B)
© w3 (D)
Arabica is associated wig,
(&) Tea (B)
(C)  Sugarcane | (D)
58.  ¥NEE e 3
() sifewm § (B)
) wEs (D)
Hirakud project is in
(o) Odisha ~ ”
| | (D)
(©)  Jhaskhan®

Ng economieg

is Production owned

Capitalistic

None of these

HE
SN

 Coffee \

Padqy

o 3
OeliEg

Bihay

Chhattngarh

:

25A/12/108]
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o [323]
- Tl T % TR A R 3
A (B)  ufe
©) el D) g7 & 7
The direction of flow of Lunj river ig
(A)  Eastern ‘ (B) Western
(€©)  Southern (D) Noneof these

. ﬁqﬁif@a'?&ﬁﬁéw&mmﬁﬁa% 7o

() wa By~ g

© == (D)  erad
Which of the fc;llowing rivers is the most polluted ?
(A) éatluj (B) Yamuna

(C) Sone | (D)  Godavari

L urfiud dereie e frm Toa d orf 2 7
(A) ER?JTUIT | (B) TwEH
(C) ImEH (D) I e
In which state is Panipat oil refinery centre located ?
(A)  Haryana (B) Rajasthan

) Uttar Pradesh
(C)  Assam (D)
\5'\\

Page 25 / 32
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62 Freaferfaa ot # ¥ forad v b et g L
W (B) .B?R e
© T D) e
In which of the following states is Narora atomic power centre

o located ? | ‘ 4
(A‘) Maharashtrg (B)  Uttar Pradesh
(@] Gujarat (D) Karnataka
- 63, Fevmy fwg T H R o
@ ®  dhrerrg
NG e D) T
Kalpakkam i in which State o
(A) Kerala (B
) Tamy Nady

(C)  Karnatakg' :

. ' () Gujarat

64. T I F St 1y 2
(A) B Sy
@/ FACH (D) Sy

The leading state in Bauxit'e Productiqy, .
(A) Goa (B) Odishq
() Kamataka D) Assam

—F~i-27]—.6—8-_ \/
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[ 323 ]
R ITICIRCIERE R RC IR U L G

(A)  HIE (B)  ©lg-31I&h
(C) SiawIse (D) dfan

Gurumahisani mine is associated with which mineral ?
(A) Coal (B) Iron-ore

(C) Bauxite (D)

_ Copper
6. T d Q= uifces @fwr @ 7

(a) e I (B) dfar

(© Hrhw o i
Which of the following is a metallic mineral ?

(A) Iron ore | | (B) Copper
| (C) fwanganese - (D) Al of these

67. WgEd % qEY R

(A) it I I (B) wtE-yeuTd 3@ A
© - @ A (D) W 3Em A

Bhadravati is associated with
(A) Cotton textile industry
(B) Iron aﬁd steel industry
(C) Petro-chemical industry

(D)  Jute industry

\
2SA/12/ 108 | Page 27 / 32
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68. YR fFwusw R 7
(A)  wEWIy (B)  Tomra

@ i (D) 9w Hrer
Trombay is in which state o

(A) Maharashtrg (B) Gujarat

€) Goa (D) West Bengaj
69 WIHR o g 3
‘ (A)  fw gy | B)  oft @y 5

©) wriwfe agy

(D) A B oy

' Bokaro stee] centre is in

(A)  Mixed Sector

(B) Private Sector
(C)  Public sector | D) None of these
20 mwﬁmmwﬂﬁw%%é ?
() =i B gy
© W (D)

Which: city is called Manchester of goyy, India »
(A) Chennai B Sholapy,

(C) Coimbatore () Ahmedapg g

;
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WUe - ¥ / SECTION - B
g I wy T / Short Answer Type Questions

ST 1 ® 20 7Y 9T & | fot 10 9 F wwr ¥ | g # forg
S frerifer &

(323 ]

10 x2 =20
uestion Nos. 1 to 20 are Short Answer Type. Answer any 10 questions.
ach question carries 2 marks. '

10x2=20
ff/%ﬁﬁzﬁuramﬁfﬁhiiamqfﬁnlnﬁﬁi§ ?

What do you mean by cultivable waste land ?

y"“m%wmmﬁmmﬁ%mml

Write the names of four main religious cities of India.

. ‘ﬁﬁﬂﬂaﬁ:aﬁtzhmaaﬁ:ésiﬁa'3Fatzu§ifﬁéq |

4. quealé;ﬁﬁﬂw?ﬁTuwﬁ%aamﬁaﬁﬁﬁntsﬁﬁﬁ%asaﬂnﬁT%sqnxﬁhﬁBQ |
Write the names of foyr gebgraphlcal factors lnﬂuen01ng the
distribution of Population

5. %aﬁﬁragﬁatﬁmqutﬁanﬂTﬁﬁﬁmz|
Write a note on Golden Quadrilateral

6.

What do yoy mean by land degradation ?

What is agriculturg] density ?

~——
|25A/12/108'
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8. A d wd form aigurd # fiwee o & shwor samEn |
Give two reasons for declining child sex ratio in India.

ST T HTET T H HEE R 7
‘ What is the importance of age structure ?
307w e 5

Mention four approaches tg Human Developmeﬁt.

. S e R g

What is Subsistence agriculture ?

12. wﬁa%mww@ﬁﬁmﬁgmam

Classify industries on the basis of Ownershj
B,

. W%Wﬂﬁwwmuﬁﬁwwgﬁl

Distinguish between Tenewable ang no

= o
. n I'enewable resource’

Mention any four sources of noise pollutiop,
15, wafeufd & MU T O ) afie et
Classify ports on the basis of location
= @ | % a9 I W |
o, E T T H\W Hfire

Di fferentiate between compact and disperseq Settlements
i ;

\__/’,
_———"2| Page 30/ 3




“ AN 67 EREATEEY
1

y}%& ”ng‘m/v(n_ (323 ]
17. WA & IR HrS Ieares Uil % A Rifgg |

Write the names of four manganese producing states of India

418/w%wug@t§ﬁwaﬂiﬂﬁ%m%@ l

Write the names of four important centres of cotton textile industry
of Gujarat.

%b Wé\/ )&
. /&//nr))
\19-/‘qﬁ§wm?@‘@wl —Aze R

Mention two quaternary activities.

- 3hie i 2 0 | -

What is Orient express ?

ﬁéﬁﬁ'ﬁm / Long Answer Type Questions
mmzz#zsaﬂa‘aﬁﬁw? I_ﬁﬁ?a‘hwﬁd‘mé | 9% & forg
sara;ﬁezfﬁ?ré 5

Describe the geographical factors 1nﬂuenc1ng the distribution of
population in the world.

22. WWWWWﬁWW@%,

Differentiate between nomadic herding

and comnlc“"'i"‘l livestock
rearing,

[25A/12/108 |
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n/

[ 3]
7 R 3§ e afeE 6wt 6 RRee S

/D D1scuss the problems of urban settlements in developing countries
g

/
Q/q/maﬁ@mqaﬁwamﬁawmu

.

26.

Discuss the production and distribution of wheat in India.

25, I % ARTEE At B B v |

Discuss the non-conventional sources of energy

Wmﬂmﬁawﬁmﬁmﬁaﬁﬁq;

@ e
(b) AT
© e
@

(€) WM |

Draw a map of India and show the followmg

(@  Paradwip

(b)  Agra
(c) Patng
(d)  Ranchi

(€) Mahanad;.




